UNIVERSIDAD CARLOS III DE MADRID ECONOMETRICS I

Academic year 2006/07 FINAL EXAM

September, 22nd, 2007

PROBLEM TEXT

Very important: Notice that some results may have been omitted from the tables.

PROBLEM 1: MONEY DEMAND

The conventional specification for money demand posits

$$\ln\left(\frac{M}{P}\right) = \alpha_1 + \alpha_2 RS + \alpha_3 \ln Y + \zeta, \tag{*}$$

where " $\ln J$ stands for natural logarithm, M= total amount of money, P= price index, RS= short run interest rate (which takes values between 0 and 1), Y= transaction volume (income).

The quantitative money theory establishes the following accounting identity:

$$MV = P Y$$
.

where V = velocity of money. Taking natural logarithms, we can write such identity in additive form:

$$m + v = p + y$$

or, equivalently,

$$-v = m - p - y,$$

where $m = \ln M$, $v = \ln V$, $p = \ln P$, $y = \ln Y$.

Furthermore, the short run interest rate, RS, can be an endogenous variable. As potential instruments, we have available the long run interest rate, RL, as well as the short run interest rate two years ago, RS(-2).

We consider two alternative specifications:

$$-v_t = \beta_1 + \beta_2 R S_t + u_t, \tag{1}$$

$$-v_t = \delta_1 + \delta_2 R S_t + \delta_3 y_t + \varepsilon_t. \tag{2}$$

The following results are based on estimating the money demand for the United Kingdom between 1874 and 1970:

OUTPUT 1: OLS estimates using the 97 observations 1874 - 1970 Dependent variable: -v

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.309479	0.022446	-13.78742	0.0000
RS	-7.005548	0.634474	-11.04150	0.0000
Mean of dep	pendent variable	-0.525011		
S.D. of depe	endent variable	0.164059		
Standard er	ror of residuals	0.109142		
R^2		0.562040		
Adjusted \bar{R}^2	2	0.557430		
Durbin-Wat	son statistic	0.327830		

OUTPUT 2: TSLS estimates using the 97 observations 1874 - 1970

Dependent variable: -vInstruments: RL, RS(-2)

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.324494	0.026089	-12.43802	0.0000
RS	-6.517483	0.767152	-8.495690	0.0000

OUTPUT 3: OLS estimates using the 97 observations 1874-1970 Dependent variable: RS

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.007971	0.003011	-2.647508	0.0095
RL	0.688677	0.097922	7.032898	0.0000
RS(-2)	0.417955	0.083551	5.002412	0.0000
S.D. of depe Standard err	pendent variable andent variable for of residuals ared residuals	0.030766 0.017557 0.009906 0.009224 0.688276 0.681643		

OUTPUT 4: OLS estimates using the 97 observations 1874-1970 Dependent variable: -v

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.324494	0.026089	-12.43802	0.0000
RS	-6.517483	0.767152	-8.495690	0.0000
res3	-1.565694	1.367535	-1.144903	0.2552
Mean of de	pendent variable	-0.525011		
S.D. of dep	endent variable	0.164059		
Standard ei	rror of residuals	0.108964		
R^2		0.568063		
Adjusted \bar{R}	52	0.558873		

(NOTE: res3 are the residuals from OUTPUT 3)

OUTPUT 5: OLS estimates using the 95 observations 1876 - 1970 Dependent variable: e (Note: e are the residuals from OUTPUT 1)

Variable	Coefficient	Std. Error	t-statistic	p-value
C	0.000268	0.006242	0.042884	0.9659
e(-1)	0.850289	0.104457	8.140077	0.0000
e(-2)	-0.017044	0.104623	-0.162905	0.8710
	pendent variable	0.000289		
-	endent variable	0.109702		
Standard error of residuals R^2		0.108964 0.699037		
Adjusted \bar{R}	2	0.692494		
Durbin-Wa	tson statistic	1.983758		

(Note: e(-1), e(-2) denote the first and second lag of the residuals in OUTPUT 1)

OUTPUT 6: OLS estimates using the 97 observations 1874 - 1970 Dependent variable: -v

Standard deviations robust to serial correlation, lag(s) order 3

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.309479	0.040132	-7.711609	0.0000
RS	-7.005548	1.032501	-6.785029	0.0000
Mean of dep	pendent variable	-0.525011		
S.D. of depe	endent variable	0.164059		
R^2		0.562040		
Adjusted $ar{R}^2$	2	0.557430		
Durbin-Wat	son statistic	0.327830		

OUTPUT 7: OLS estimates using the 97 observations 1874 - 1970

Dependent variable: -v

Standard deviations robust to serial correlation, lag(s) order 3

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.652518	0.290490	-2.246268	0.0270
RS	-7.333019	1.114031	-6.582422	0.0000
y	0.042682	0.037187	1.147754	0.2540
Mean of de	ependent variable	-0.525011		
S.D. of dep	endent variable	0.164059		
R^2		0.576082		
Adjusted \bar{I}	$\bar{\ell}^2$	0.557230		

OUTPUT 8: OLS estimates using the 97 observations 1874 - 1970

Dependent variable: -v

Standard deviations robust to heterokedasticity, variant HC1

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.652518	0.168034	-3.88325	0.00020
RS	-7.333019	0.701298	-10.45636	0.00000
y	0.042682	0.019122	2.23209	0.02798

OUTPUT 9: OLS estimates using the 97 observations 1874 - 1970

Dependent variable: -v

Variable	Coefficient	Std. Error	t-statistic	p-value
C	-0.652518	0.168834	-3.86485	0.00020
RS	-7.333019	0.700075	-10.47462	0.00000
y	0.042682	0.019002	2.24618	0.02703
Mean of dep	pendent variable	-0.525011		
S.D. of depe	endent variable	0.164059		
R^2		0.576082		
Adjusted \bar{R}^i	2	0.557230		

PROBLEM 2: EFFECT OF THE ETHNIC ORIGIN ON DEATH PENALTY

Some experts believe that in the United States the probability of being condemned to death is higher, *ceteris paribus*, when the accused is black. To evaluate such hypothesis, we analyze 679 in different States where the death penalty can be applied. In this sample, the proportion of white victims is 76%. We consider the following variables:

CONDENA = binary variable that equals 1 if the accused is condemned to death and 0 otherwise;

RAZA_ACUSADO = binary variable that equals 1 if the accused is black and 0 otherwise:

RAZA_VICTIMA = binary variable that equals 1 if the victim is black and 0 otherwise.

We obtained the following results:

OUTPUT 1: Logit estimates using the 679 observations 1-679 Dependent variable: CONDENA

Variable	Coefficient	Std. Error	t-statistic	$Slope^*$
C	-2.08	0.14	-14.86	
RAZA_ACUSADO	-0.39	0.31	-1.26	-0.0356
*At mean				

Mean of CONDENA = 0.102

Number of 'correctly predicted' cases = 610 (89.8 percent)

McFadden's Pseudo- $R^2 = 0.0040$

 $f(\beta'x)$ at mean of independent variables = 0.090

Log-likelihood = -222.25

Likelihood ratio test: $\chi_1^2 = 1.770$

OUTPUT 2: Logit estimates using the 679 observations 1-679 Dependent variable: CONDENA

Variable	Coefficient	Std. Error	$t ext{-statistic}$	$Slope^*$
const	-2.04	0.61	-7.26	
RAZA_ACUSADO	0.83	0.36	2.31	0.0644
RAZA_VICTIMA	-2.39	0.60	-3.98	-0.1861
*At mean				

Number of 'correctly predicted' cases = 610 (89.8 percent)

McFadden's Pseudo- $R^2 = 0.0496$

 $f(\beta'x)$ at mean of independent variables = 0.078

Log-likelihood = -212.07

Likelihood ratio test: $\chi_2^2 = 22.13$

Universidad Carlos III de Madrid <u>ECONOMETRICS I</u> Academic year 2006/07 FINAL EXAM September 22, 2007

Exam's type: 1

• TIME: 2 HOURS 30 MINUTES

Directions:

- BEFORE YOU START TO ANSWER THE EXAM:
 - Fill in your personal information in the optical reading form, which will be the only valid answering document. Remember that you must complete all your identifying data (name and surname(s), and NIU, which has 9 digits and always begins by 1000) both in letters and in the corresponding optical reading boxes.
 - Fill in, both in letters and in the corresponding optical reading boxes, the course code (10188) and your group (65 or 75).
- AT THE END OF THE EXAM, YOU MUST HAND OUT THE THE OPTICAL READING FORM, TOGETHER WITH THE QUESTIONNAIRE AND THE PROBLEM SET.
- Check that this document contains 40 questions sequentially numbered.
- Check that the number of exam type that appears in the questionnaire matches the number indicated in the optical reading form.
- Read the questions carefully.
 - Whenever a question is referred to a Problem included in the enclosed document, the question will include within parentheses at the beginning of the question the corresponding problem number.
 - It is advised to read carefully the text of the problem before answering its corresponding questions.
- For each row regarding the number of each question, fill the box which corresponds with your chosen option in the optical reading form .
- Each question, that must be answered filling the box which corresponds to the chosen option, only has one correct answer (A, B, C or D).

Any question in which more than one answer is selected will be considered incorrect and its score will be zero.

- To obtain a grade of 5 over 10 you must correctly answer **22 questions**.
- If you wish, you may use the answer table as a draft, although such table does not have any official validity.
- You can use the back side of the problem text as a draft (no additional sheets will be handed out).
- The relevant **statistical tables** are attached at the end of this document.

- Any student who were found talking or sharing any sort of material during the exam will be expelled out immediately and his/her overall score will be zero, independently of any other measure that could be undertaken.
- Date of grades publication: Tuesday, September, 25th.
- Date of exam revision: Thursday, September, 27th, at 15:00 h, classrooms 15.0.04, 15.0.5 and 15.0.06.

• Rules for exam revision:

- Its only purpose will be to check that the number of correct answers is right.
- To be entitled for revision, the student should bring a *printed copy* of the exam solutions, which will be available in Aula Global from the date of grades publication.
- Any complaint about hypothetical errors in the exam contents with respect to the official solutions must be done in writing. The complaint sheet must be hand in at the moment of the exam revision, indicating name and surname, NIU, and university e-mail address. After the exam revision, no complaint will be accepted in any case. If, in a five days time, the complaint were not answered and/or the grade were not amended in Aula Global, it must be understood that the complaint has been disregarded, what would end up the complaint procedure to the course professor.

					ft of VERS				
ANSWER	(a)	(b)	(c)	(d)	ANSWER	(a)	(b)	(c)	(d)
1.	()	,	()	, ,	21.	()	,	,	,
2.					22.				
3.					23.				
4.					24.				
5.					25.				
6.					26.				
7.					27.				
8.					28.				
9.					29.				
10.					30.				
11.					31.				
12.					32.				
13.					33.				
14.					34.				
15.					35.				
16.					36.				
17.					37.				
18.					38.				
19.					39.				
20.					40.				

- 1. (Problem 2) Exploiting the fact that in OUTPUT 1 the only explanatory variable is binary, the proportion in the sample of accused black individuals who are condemned to death is approximately equal to:
 - (a) We do not have enough information to calculate.
 - (b) 23%.
 - (c) 28%.
 - (d) 8%.
- 2. (Problem 2) Exploiting the fact that in OUTPUT 1 the only explanatory variable is binary, if the specified model in OUTPUT 1 had been estimated by a linear probability model instead of using the logit model, the estimate of the constant would approximately be:
 - (a) -2.08.
 - (b) We do not have enough information to calculate.
 - (c) 0.11.
 - (d) 0.28.
- 3. (**Problem 2**) Exploiting the fact that in OUTPUT 1 the only explanatory variable is binary, if the specified model in OUTPUT 1 had been estimated by a linear probability model instead of using the logit model, the estimate of the parameter for RAZA_ACUSADO would approximately be:
 - (a) 0.08.
 - (b) -0.03.
 - (c) We do not have enough information to calculate.
 - (d) -0.39.
- 4. (**Problem 2**) Taking into account that in OUTPUT 1 the only explanatory variable is binary, the estimate of $E(\text{CONDENA} \mid \text{RAZA_ACUSADO} = 1, \text{RAZA_VICTIMA} = 0)$ is approximately equal to:
 - (a) It cannot be calculated because the estimated models do not characterize conditional expectation models.
 - (b) 0.08.
 - (c) 0.83.
 - (d) 0.23.
- 5. (Problem 2) Exploiting the fact that in OUTPUT 1 the only explanatory variable is binary, if the specified model in OUTPUT 1 had been estimated by a linear probability model instead of using a logit model:
 - (i) The error term would present heteroscedasticity (conditional on the explanatory variables).
 - (ii) The magnitude of the estimated effect of the explanatory variable on the probability of being condemned to death would be the same.
 - (iii) The predicted probabilities could be larger than 1 or smaller than 0.
 - (a) The three statements are true.
 - (b) Only (i) and (ii) are true.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.

- 6. (Problem 2) The predicted probability that an accused black person is condemned when the victim is white is approximately equal to:
 (a) 0.23.
 (b) 0.96.
 (c) 0.08.
- 7. (Problem 2) If the specified model in the OUTPUT 2 had been estimated by a linear probability model instead of using the logit model:
 - (i) The error term would present heteroscedasticity (conditional on the explanatory variables).
 - (ii) The magnitude of the estimated effects of the explanatory variables on the probability of being condemned to death would be the same.
 - (iii) The predicted probabilities could be larger than 1 or smaller than 0.
 - (a) The three statements are true.
 - (b) Only (i) and (ii) are true.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 8. (Problem 2) According to the estimations of OUTPUT 2, the average of the estimated effect of being an accused black person on the probability of being condemned to death is approximately equal to:
 - (a) 0.22.

(d)

0.83.

- (b) We do not have enough information to calculate this effect.
- (c) 0.09.
- (d) 0.11.
- 9. (Problem 2) According to the estimations of OUTPUT 2, the average of the estimated effect that the victim is black on the probability of being condemned to death is approximately equal to:
 - (a) -0.13.
 - (b) We do not have enough information to calculate this effect.
 - (c) -0.19.
 - (d) 0.20.
- 10. (Problem 2) Given the results, we can assert that:
 - (a) If the victim is white, it is more likely that the accused is condemned.
 - (b) The race of the victim only has an influence if the accused is black.
 - (c) The race of the victim does not influence the probability of being condemned.
 - (d) If the victim is black, it is more likely that the accused is condemned.

- 11. (Problem 2) Given the model in OUTPUT 2:
 - (i) If we keep the assumption of a logistic distribution, the estimations of the parameters would be identical if we estimate by Maximum Likelihood as well as if we apply non-linear least squares.
 - (ii) If we estimated by Maximum Likelihood assuming a normal distribution instead of a logistic one (and assuming that there are not too many extreme values in the sample) the magnitudes of the estimated coefficients would be bigger in the case of the normal distribution.
 - (iii) If, keeping the assumption of a logistic distribution, we estimate by non-linear least squares instead of by Maximum Likelihood, the corresponding heteroskedasticity-robust standard errors of the coefficients will be smaller than or equal to the conventional standard errors of such coefficients.
 - (a) Only (ii) is true.
 - (b) Only (i) and (ii) are true.
 - (c) Only (i) and (iii) are true.
 - (d) The three statements are false.
- 12. (Problem 2) Given the model in OUTPUT 1:
 - (i) We would have obtained **exactly** the same estimates of the effects of the explanatory variable (race of the accused) if we had assumed a normal distributions instead of a logistic one.
 - (ii) If this model would be correct (that is, if it would include all the relevant explanatory variables and the assumption of logistic distribution would be true), we would have also obtained consistent estimators of the coefficients if we had estimated by nonlinear least squares.
 - (iii) If, keeping the assumption of logistic distribution, we had estimated by nonlinear least squares, the conventional standard errors would be inappropriate because of the existence of conditional heteroskedasticity.
 - (a) The three statements are true.
 - (b) Only (ii) and (iii) are true.
 - (c) Only (i) and (ii) are true.
 - (d) Only (iii) is true.
- 13. (Problem 2) Suppose that the proportion of white victims is 47% and the proportion of black accused individuals is 55%. Given OUTPUT 2, how does change, on average, the probability of being condemned with the race of the accused?
 - (a) 0.11.
 - (b) We do not have enough information to calculate this effect.
 - (c) 0.06.
 - (d) -0.07.
- 14. (Problem 2) Suppose that the proportion of white victims is 47% and the proportion of black accused individuals is 55%. Given OUTPUT 2, what is the effect that the accused is black on the probability of being condemned when RAZA_VICTIMA takes its sample average value?

- (a) 0.01.
- (b) 0.05.
- (c) 0.04.
- (d) We do not have enough information to calculate this effect.

- 15. (Problem 2) What is the effect that the victim is white on the probability of being condemned for an accused whose race corresponds to its modal value?
 - (a) We do not have enough information to calculate this effect.
 - (b) -0.10.
 - (c) -0.20.
 - (d) 0.10.
- 16. (Problem 2) Given OUTPUT 2, consider the following statements:
 - (i) If the victim is black, the probability of being condemned is very small as compared with the average probability of being condemned.
 - (ii) If the victim is black, the race of the accused makes the probability of being condemned to change relatively more than if the victim was white.
 - (iii) Suppose that the victim is white. Then, the probability of being condemned is larger than if the victim is black. Besides, the effect of being a black accused has a stronger effect on the probability of being condemned than if the victim is black.
 - (a) Only (ii) is true.
 - (b) Only (i) and (ii) are true.
 - (c) Only (i) and (iii) are true.
 - (d) The three statements are true.
- 17. (Problem 2) According the following statements:
 - (i) Looking at the number of correctly predicted cases, we conclude that both models are valid to know the impact of the race of the accused on the probability of being condemned.
 - (ii) Looking at number of correctly predicted cases, both models have the same goodness of fit.
 - (iii) Looking at the value of the likelihood function, the model estimated in OUTPUT 2 fits better the data.
 - (a) Only (i) is false.
 - (b) Only (i) and (ii) are false.
 - (c) Only (iii) is false.
 - (d) Only (ii) false.
- 18. (Problem 2) In case we wanted to test if the race of the accused is relevant at the moment to define the probability of death penalty:
 - (i) Under the evidence that correspondent t statistics is approximately 2.31, we reject at 1% confidence level the null hypothesis that this variable does not have a statistically significant impact.
 - (ii) Under the evidence that correspondent likelihood ratio is approximately 20.36, we reject at 1% confidence level the null hypothesis that this variable does not have a statistically significant impact.
 - (iii) Under the evidence that correspondent t statistics is approximately -1.26, we cannot reject at 1% confidence level the null hypothesis that this variable does not have a statistically significant impact.

- (a) Only (i) is true.
- (b) Only (i) and (ii) are true.
- (c) Only (iii) is true.
- (d) Only (ii) is true.

- 19. **(Problem 1)** In OUTPUT 1:
 - (i) The constant term in the regression is a estimated of the average velocity of money.
 - (ii) The estimated impact of the short–run interest rate on the velocity of money is constant and approximately equal to -7.
 - (iii) An increase in the short—run interest rate in 0.1 percentage points reduces the velocity of money in 0.7 percentage points.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 20. (**Problem 1**) In OUTPUT 1, if RS were measured as percentage instead of being a value between 0 and 1:
 - (i) The estimated value of the coefficient associated to RS would be approximately -0.07005.
 - (ii) The t statistics of the coefficient associated to RS would be approximately -0.11041.
 - (iii) The standard error of the coefficient associated to RS would be approximately 0.006345.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are true.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 21. (**Problem 1**) Comparing models (1) and (2) in terms of the estimated coefficients of model (*):
 - (i) We get that $\alpha_3 = 0$ in model (1).
 - (ii) We get that $\alpha_2 = \delta_2$ in model (2).
 - (iii) We get that $\alpha_3 = \delta_3$ in model (2)
 - (a) Only (i) is true.
 - (b) The three statements are false.
 - (c) Only (iii) is true.
 - (d) Only (ii) is true.
- 22. (Problem 1) If we wanted to estimate the most general (flexible) model from the three models previously presented:
 - (i) We would use model (*).
 - (ii) We would use model (2).
 - (iii) Models (*) y (2) are different and not comparable between each other.
 - (a) Only (i) is true.
 - (b) Only (iii) is true.
 - (c) Only (i) and (ii) are true.
 - (d) Only (ii) is true.

- 23. (Problem 1) According OUTPUT 1 and assuming in model (1) all assumption in the classical regression are holding:
 - (i) The constant in the regression represents the velocity of money.
 - (ii) The average of the log of the velocity of money is approximately equal to 0.525.
 - (iii) An increase in the short–run interest rate in 0.1 percentage points increases the velocity of money in approximately 0.7%.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 24. (Problem 1) According OUTPUT 1 and assuming in model (1) all assumption in the classical regression are holding:
 - (i) The velocity of money increases when the short-run interest rate increases.
 - (ii) The average of the logarithm of the velocity of money is approximately -0.31.
 - (iii) A reduction in the short–run interest rate in 0.1 percentage points reduces the velocity of money in approximately 0.7%.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 25. (Problem 1) According OUTPUT 1 and assuming in model (1) all assumption in the classical regression are holding:
 - (i) We cannot reject at a 10% confidence level the null hypothesis that an increase of 0.1 percentage points in the short–run interest rate increases in average the velocity of money in approximately in 1%.
 - (ii) The statistic test for the null hypothesis $H_0: \beta_2 = -10$ is approximately equal to 4.8.
 - (iii) We cannot reject at a 10% confidence level the null hypothesis that for each percentage point reduction in the short–run interest rate the velocity of money increases in average in a one percentage point.
 - (a) Only (ii) is true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) The three statements are true.
- 26. (Problem 1) According OUTPUT 1 and assuming in model (1) all assumption in the classical regression are holding:
 - (i) The 56% of the variance of v is explained by the short–run interest rate.
 - (ii) The estimated coefficients for the constant and slope in model (1) are individually different from zero but they would not necessarily be jointly statistically different from zero.

- (iii) The conditional variance of -v is approximately equal to 0.012.
- (a) Only (i) and (ii) are true.
- (b) The three statements are true.
- (c) Only (i) and (iii) are true.
- (d) Only (ii) and (iii) are true.

- 27. (Problem 1) According OUTPUT 1 and assuming in model (1) all assumption in the classical regression are holding:
 - (i) The 56% of the variance in v is explained by the short–run interest rate.
 - (ii) The variance of v, conditional on RS, is approximately equal to $-(0.109142)^2$.
 - (iii) The conditional variance of -v is approximately equal to 0.012.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are true.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 28. (Problem 1) Using the specification of model (1) and under the evidence of the results:
 - (i) RS is clearly endogenous, since the estimated coefficient varies from -7 in OUTPUT 1 to -6.5 in OUTPUT 2:.
 - (ii) Not only the estimation in OUTPUT 1 but also in OUTPUT 2 are consistent.
 - (iii) The estimates in OUTPUT 1 are more efficient than the ones in OUTPUT 2.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 29. (Problem 1) Using the specification of model (1) and under the evidence provide by the results of several outputs, we can conclude that:
 - (i) RS is endogenous.
 - (ii) Only the estimates based on OUTPUT 1 are correct.
 - (iii) We do not have good instruments for RS that correlated with this variable.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 30. (Problem 1) Using the specification of model (1) and under the evidence provide by the results of several outputs, we can conclude that:
 - (i) If RS was endogenous, RL would also be endogenous, since this last variable is correlated with RS
 - (ii) RS(-2) can not be a good instrument for RS, because it is correlated with the error term in OUTPUT 2: given the fact that RS explicative variable.
 - (iii) RL and RS(-2) satisfy one condition to be instruments for RS, since they are jointly and individually correlated with RS.
 - (a) Only (i) is true.
 - (b) The three statements are true.
 - (c) Only (iii) is true.
 - (d) Only (ii) is true.

- 31. (Problem 1) Using the specification of model (1) and under the evidence provide by the results of several outputs, we find evidence that:
 - (i) There is first order autocorrelation.
 - (ii) There is second order autocorrelation.
 - (iii) There is not autocorrelation of an order higher than 2, under the evidence provide by the Durbin-Watson statistics in OUTPUT 1.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) is true.
 - (d) Only (iii) is true.
- 32. (Problem 1) Using the specification of model (1) and under the evidence provide by the results of several outputs:
 - (i) The estimated coefficients in OUTPUTS 1 and 6 should be equal between each other.
 - (ii) Although there is residual autocorrelation in the specification (1), we can ensure that RS is statistically significant.
 - (iii) The statistics for the null hypothesis $H_0: \beta_2 = -1$ is approximately equal to 0.29.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 33. (Problem 1) The specification in model (1)
 - (i) Constraints the impact of the short-run interest rate on the velocity of money to be constant.
 - (ii) Constraints the money demand elasticity to be constant in respect to the income.
 - (iii) Constraints the money demand elasticity to be one in respect to the income.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are true.
 - (c) Only (ii) and (iii) are true.
 - (d) Only (i) and (iii) are true.
- 34. (Problem 1) The specification in model (2)
 - (i) Constraints the impact of the short-run interest rate on the velocity of money to be constant.

- (ii) Constraints the money demand elasticity to be constant in respect to the income.
- (iii) Constraints the money demand elasticity to be one in respect to the income.
- (a) Only (i) is true.
- (b) The three statements are true.
- (c) Only (ii) is true.
- (d) Only (i) and (ii) are true.

- 35. (Problem 1) The specification in model (2) in relationship to the results that have been presented:
 - (i) There is evidence of conditional autocorrelation.
 - (ii) There is evidence of conditional heteroskedasticity.
 - (iii) We should follow our analysis base on the results from OUTPUT 7.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are true.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 36. (Problem 1) According the results presented in the specifications (1) and (2), we are able to conclude:
 - (i) Income (Y) is not relevant to explain the real money demand (M/P).
 - (ii) At a 3% significance level, we reject the hypothesis that the income elasticity (Y) of the real money demand (M/P) is one.
 - (iii) Income has significant impact on the velocity of money : for each percentage point that income increases, keeping constant the interest rate, the velocity of money increases in approximately 0.04%.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 37. (Problem 1) According the results presented in the specifications (1) and (2), we are able to conclude:
 - (i) The real money demand (M/P) depends on Income (Y) and on the short–run interest rate (RS).
 - (ii) At a 3% significance level, we reject the hypothesis that the income (Y) elasticity of the real money demand (M/P) is one.
 - (iii) for each percentage point that income (Y) increases, keeping constant the short–run interest rate, the real money demand (M/P) increases on average in 1%.
 - (a) Only (i) and (ii) are true.
 - (b) The three statements are false.
 - (c) Only (i) and (iii) are true.
 - (d) Only (ii) and (iii) are true.
- 38. (Problem 1) According the results presented in the specifications (1) and (2), we are able to conclude:

- (i) Estimations of specification (1) are inconsistent.
- (ii) We should select the results from OUTPUT 7.
- (iii) Estimations of specification (2) are inconsistent.
- (a) Only (i) and (ii) are true.
- (b) The three statements are false.
- (c) Only (i) and (iii) are true.
- (d) Only (ii) and (iii) are true.

 (a) -7%. (b) 7.33%. (c) -7.33%. (d) 7%. (Problem 1) According the results presented, the preferred estimation of the income elasticity of the real money demand (M/P) is: (a) -1. (b) 1.04. (c) -0.96. (d) 1. 	(-)	707
 (c) -7.33%. (d) 7%. (Problem 1) According the results presented, the preferred estimation of the income elasticity of the real money demand (M/P) is: (a) -1. (b) 1.04. (c) -0.96. 	` ′	
 (d) 7%. (Problem 1) According the results presented, the preferred estimation of the income elasticity of the real money demand (M/P) is: (a) -1. (b) 1.04. (c) -0.96. 		
 (Problem 1) According the results presented, the preferred estimation of the income elasticity of the real money demand (M/P) is: (a) -1. (b) 1.04. (c) -0.96. 		
elasticity of the real money demand (M/P) is: (a) -1 . (b) 1.04 . (c) -0.96 .	(a)	1%.
(b) 1.04. (c) -0.96.		
(c) -0.96 .	(a)	-1.
	(b)	1.04.
(d) 1.	(c)	-0.96.
	(d)	1.